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2 The most general solution  for

approximation is given by

4

A g B A [GmE-V)
@ gf“":;?‘%"jﬂg@?ifng}%@-é [ 2m

b x%e* [\GmlE+V)

@ =g [EETV)

WKB

75
A s .
d =268 | 2AmE ~mV). "
@ v=73 5 ) M%D
G oL
3. E;Lgsx]isgivan%}* a;{i"";} g%
(a) hy o iy ¥ e,
« wx 9 3
) L @ -~z IR
(o3 Ly, , N
: ’4. Transition probakility per vt bme ’
- i ‘ g -
2 P hed
- {a) 1= zﬁ“‘ﬁ};%}f&% by 7 A QsWWi
S L3 k .2
© t=VHS @ m-g;;p,%ml :
5. . Dirac's spin meix g, is
{a) u,u, &bs 1,
(¢} —ia, (dy riaa,.
” 2 29929
B i ¥
N
University. Exam question paper, .study materials download from howtoexam.com |

g How does_ scattering cross section
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: Y = =2, then what is the value of
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7. What is the value of ground state energy of a

' Hydrogen molecule by variation method?

i;’; and

scattering ampiitx{ée are related?
9. What is the eigen value for the operator .7

10. Write down Klein-Gordan's relativistic equations.
SECTIONB—(5x 4= 20 marks)
Answer ALL questions.

« 11.~ () Bring out the  distinctions between

 Schrodinger pieture and Heisenberg picture.

{}Y [ —
(b) Explain bra and ket vectors.

12~ (a) Give the ‘maaning' of degeneracy. Give an
: e@p&e for a four fold degeneracy.

Or
(b) Outline the prineiple of WRB approximation.
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